
 

 

 

 

Truy cập website: hoc360.net để tải tài liệu đề thi miễn phí 
 

Group: https://www.facebook.com/groups/tailieutieuhocvathcs/ 

B. ĐÁP ÁN TIẾNG ANH : 

I. Choose the best option A, B, C or D to complete the sentence 

1. D. because 

2. C. am 

3. C. both 

4. D old 

5. B. strong 

6. C. is going 

7. B. are 

8. A. because 

9. C. have to 

10. B. lonely 

11. B. out of 

12. B. am gonging to do 

13. D. ourselves 

14. A. herself 

15. C. must 

16. B. must 

17. C. ought 

18. A. ought 

19. C outside 

20. A. upstairs 

II. Use (not) adjective + enough + to-infinitive to combine these sentences. 

1. He is strong enough to carry that suitcase. 

2. The ice was thick enough to walk on it. 

3. The dog isn't savage enough to harm you. 

4. You aren’t old enough to drive a car. 

5. It isn’t warm enough to go swimming. 

III. Put one reflexive pronoun in each gap to complete the sentences. 

1. ourselves 
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2. herself 

3. myself 

4. yourself 

5. himself 

6. ourselves 

7. myself 

8. themselves 

9. yourself 

10. herself 

IV. Match the question in column A with the appropriate answer in column B. 

1. – d 

2. – g 

3. – h 

4. – a 

5. – e 

6. – c 

7. – f 

8. – b 

V. Choose one word from the box to fill in each gap in the foIIowing passage. 

1. old 

2. visit 

3. many 

4. to drive 

5. to buy 

6. travel 

7. to wear 

8. to write 

9. to tell 

10. visited 
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